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MBA 305B

Third Semester Examination — 2012-13
PROJECT APPRAISAL
Full Marks —70

Time : 3 Hours

Answer Question No. 1 & 2 are compulsory and any four from the rest.

The figures in the right-hand margin indicate marks.

1.  Answer the following questions : 2x10

(a)
(b)

Team work is an important feature of a project. Why ?
Name two major e-Governance projects implemented in Odisha.

Why does the State Government provide land at concessional rate to industrial
projects proposed for implementation in backward Districts. Management
Appraisal necessary for a Project ? Who does it ?

Differentiate between project-specific risk and industry specific risk.

Give the full form of BOOT and explain its implication in the context of a big
Infrastructure Project.

' Why is Mr E Sreedharan, Ex-MD of Delhi Metro Rail Corporation is

respected as a very successful Project Manager ?

. Whatis CPM ? Explain its significance in project management.

What is WBS ? Briefly explain the concept in relation to resource allocation.

State four restrictive covenants generally imposed by Fl/Bank while
sanctioning term loan to a project.

Differentiate between Financial Risk and Business Risk.

P.T.O.




image2.jpeg
2. Case Study:

Read the given Case carefully and answer the questions that follow :
National Highways Authority of India (NHAI), Ministry of Shipping, Road Trans-

* port and Highways, Government of India has awarded a project under PPP
model for Six Laning of Bhubaneswar-Jagatpur-Chandikhole section, a stretch
of 67 kms of NH-5 on Design, Build, Finance, Operate and Transfer (DBFOT)
pattern. =
Shree Jagannath Expressways Pvt. Ltd. (SJEPL) was promoted as a Special
Purpose Vehicle (SPV) by SREI Infrastructure Finance Ltd. (48%), Simplex In-
frastructure Ltd. (26%) and Galfar Engineering & Contracting SAOG (26%) for
execution of the project. The Concession Agreement stipulates construction pe-
riod of 910 days, Completion date as 11" June 2014 and a Concession period of
26 years. »
The six-laning project includes construction of 5 major Bridges, 9 Flyovers, 27
minor bridges, 25 Vehicular Underpasses, 33 passerine underpasses, 107 cul-
verts, 64 Kms of service road and One Toll Plaza. Total Project Costis around Rs
1500.00 Crore. NHAI will provide some Rs.200.00 Crore while the balance fund
is to be mobilized by SJEPL. ‘
SJEPL divided the total stretch of 67 kms into two parts and engaged two
contractors namely Simplex Infrastructure Ltd. and RKD Construction Pvt. Ltd.
for execution of Baramumda-Manguli and Manguli-Chandikhole sections
respectively. STUP Consultants Pvt. Ltd. has been appointed for design of the
Project. Nicholas O’ Dwyer Co Ltd. in joint venture with S A Infrastructure
Consultants Ltd. are the Independent Engineers reporting to NHAI. LEA
Associates South Asia Pvt. Ltd. is engaged by the SPV as the Project Manage-
ment Consultant with a mandate to look after construction supervision including
quality control.
The project is running behind schedule by almost 12 months. The major reasons
for time overrun of the project relates to land acquisition, shifting of HT transmission
towers and lines, relocation of public utilities, traffic congestion, local demand for
more jobs in the project, labor issues and clearance from government authorities.
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In the meantime SJEPL has started collection of toll tax at the Toll Plaza con-

structed in the Manguli-Chandikhole section. Specified categories of vehicles are
“exempted from payment of toll tax.

While answering the following questions, clearly state assumptions made if any :

(a) What are the areas of responsibility entrusted to SUEPL in the Six-laning
Project ? What action the SPV has taken to accomplish the same effectively.

3

(b) Discuss any one reason (stated in the case) causing time overrun of the
project and suggest measures to deal with it. 2

(c) How do you justify the implementation of this project under PPP ? 3

(d) How would it affect the project'if more vehicles are exempted from toll tax ?

2
“The edifice of financial appraisal stands on the foundation of correct estimation
of capital cost of a project.” Justify the statement by explaining the components
of capital cost of a project. 4+6

Why a project should be appraised from different perspectives such as Technical,
Commercial, Financial and Environmental. Do you agree that Environmental
Appraisal is increasingly becoming crucial in the appraisal framework ? Justify
your stand. 5+5

Name the major components of costs those go into estimation of Project Cost ?
Briefly explain the constituents of “Land and land development” and “Pre-opera-
tives expenses” as components of Project Cost. What measure could be taken to
cut down on these two expenses? 3+4+3

What are the major sources of financing a project ? Suggest with justification an
appropriate mix and balance of funds to be mobilized from different sources for
funding a new project. The estimated project cost is Rs.500 lakhs and it will be *
established in an economically backward area. 5+5

Sofine Chehicals Pvt Ltd (SCPL) was established in 2006 to produce detergent
washing powder. The company is currently earning a net profit of Rs 10 lakhs per
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annum after deducting all expenses. The company is planning to make additional
investment to expand the business. SCPL has to choose one alternative most
beneficial to it out of the following alternatives.
Alternative -1 : SCPL can acquire technical knowhow from Craine Solutions, a
Korean company to produce an industrial chemical which will bring additional
gross revenue of Rs. 8 Lakhs pae annum. It has to pay annual royalty charges of
Rs 4 Lakhs.
Alternative - 2 : SCPL can invest Rs. 2 Lakhs in special one-time marketing
drive to promote the detergent in different variants. The venture has a risk factor
and there is 50% probability of success. But in case the venture becormnes
successful, the company can earn an additional gross income of Rs.12.5 Lakhs
per annum. :
Alternative - 3 : The Company may go for R & D to produce new chemicals. The
amount required for R & Dis Rs. 2 Lakhs. The probability of achieving success is
75%. If the research turns out to be successful, the additional gross income shall
be Rs. 10 lakhs per annum.
The company in view of the limited resources can consider only one of the above
alternatives. '
Questions :
(A) Calculate the Expected Money Value in each of the above alternatives using
Decision Tree Analysis. 5

(B) Identify the most suitable and beneficial strategy of business expansion for
SCPL. 5

8. Write short notes on any two of the following : 5x2
(a) Normal project Vs Crash project
(b) Forward Vs backward integration project

(c) Phases of Post-audit.
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